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Question 1
76 mod 4 =10
89 mod 10 = 9
68 mod 10 = &
50 mod 7 = 1
62mod 7= 6
98 mod 3 = 2
60 mod 3 = 0
97 mod 10 = 7
54 mod 2 = 0
59 mod 6 = 5
96 mod 8 = 0
82mod 8 = 2
92 mod 4 = 0
97 mod 8 = 1
50mod 9 =5
70 mod 8 = 6
73mod 3 = 1
66 mod 5 = 1
82 mod 2 = 0
76 mod 10 = 6
98 mod 4 = 2
57mod 6 = 3
65 mod 9 = 2
95 mod 2 = 1
59 mod 2 = 1
100 mod 9 = 1
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55 mod 6 = 1
90 mod 6 = 0
91 mod 5 = 1
89 mod 3 = 2
62 mod b = 2
81 mod 3= 0
96 mod 7= 5
56 mod 9 = 2
83 mod4 =3
92 mod 10 = 2
83 mod 2 = 1
75mod 8 = 3
97mod 1 =0
82 mod 9 = 1
70 mod 2 = 0
98 mod 3 = 2
79 mod 3 = 1
62 mod 6 = 2
87mod 6 = 3
56 mod 6 = 2
79 mod 6 = 1
93 mod 1 =10
7l mod 2 =1
87mod 3 =0
59 mod 8 = 3
72mod 4 =0
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Question 3  [25 marks] Question 4  [25 marks]
0: 86 mod 4 = 2 0: 92mod 9 = 2
1: b4 mod 1= 0 1: 6b mod 10 = 5
2: 91 mod 6 = 1 2: 86 mod 4 = 2
3: 94 mod 5 = 4 3: 5H mod 3 = 1
4: 89 mod 10 = 9 4 73mod 8 = 1
5 8 mod 1= 0 5 53 mod 9 = 8
6: b3 mod 8 = 5 6: 71 mod 5 = 1
7. 82 mod 5 = 2 7. 97 mod 2 = 1
8 H2mod 7= 3 8 73 mod 3 = I
9: 78 mod 9 = 6 9: 87 mod 5 = 2
10: 7hmod 8 = & 10: 60 mod 9 = 6
11: B8 mod 2 = 0 11: 53 mod 9 = &
122 70 mod 2 = 0 12: 51 mod 10 = I
13: 98 mod 3 = 2 13: 93 mod 2 = 1
14: T5mod 7= 5 14: 89 mod 3 = 2
15: 83 mod 10 = & 15: 56 mod 8 = 0
16: 84 mod 9 = & 16: 97 mod 2 = 1
17: 82 mod 5 = 2 17: 89 mod 7= 5
18: 96 mod 5 = 1 18: bl mod 4 =3
19: 64 mod 5 = / 19: 89 mod 2 = 1
20: 80 mod 6 = 2 20: 81 mod 10 = 1
21: 62 mod 8 = 6 21: 94 mod 1 = 0
22: 81 mod 9 = 0 22: 67 mod 1 = 0
23: 60 mod 9 = 6 23: 88 mod 9 = 7
24: 95 mod 9 = H 24: 68 mod 10 = &
25: 80 mod 5 = 0 25: 96 mod 6 = 0
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Question 5 [25 marks] Question 6 [25 marks]
0: 99 mod 6 =3 0: H2mod 7= 3
1: 50 mod 3 = 2 1: 9 mod 3 =0
2: 52 mod 6 = 4 2. 64 mod 7 = 1
3 91mod 1 =10 3 78 mod 4 = 2
4 73mod 10 = & 4 65mod 3 =2
5 94mod 7= 3 5 b7 mod 4 = 1
6: 98 mod 1 =0 6: 7T3mod 7= 3
7. 87T mod 6 = & 7. 73 mod 8 = 1
8 72mod 4 = 0 8: 65 mod 5= 0
9: b5mod 1 = 0 9: 73 mod 6 = 1
10: 92 mod 7 = 1 10: 90 mod 4 = 2
1: 98 mod 9= 8§ 1: 92mod 5= 2
12: 63 mod 2 = 1 122 79 mod 2 = 1
13: 56 mod 5 = 1 13: 76 mod 4 = 0
14: 80 mod 7= 3 14: 71 mod 4 =3
15: 67 mod 4 = 3 15: 76 mod 4 = 0
16: 51 mod 7= 2 16: 61 mod 4 = 1
17: 90 mod 3 = 0 17: 67 mod 4 = &
18 95mod 4 = & 18: 57 mod 5 = 2
19: 76 mod 4 = 0 19: 59 mod 5 = /
20: 72 mod 6 = 0 20: 94 mod 6 = 4
21: 70 mod 5 = 0 21: b2 mod 1 = 0
22: 100 mod 9 = 1 22: 63 mod 1 = 0
23: 85 mod 2 = I 23: 81 mod 10 = 1
24: 62mod 7= 6 24: 75 mod 5 = 0
25: 99 mod 6 = & 25: 88 mod 4 = 0
mod_50t0100_1t010 mod_50t0100-1t010
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Question 7 [25 marks] Question 8 [25 marks]
0: 93 mod1=0 0: 79mod1=0
1: 60 mod 7= 4 1: 68 mod 4 =0
2. 82mod 1= 20 2: 57 mod 5 = 2
3 b4 mod 9 = 0 3 77 mod 10 = 7
4: 76 mod 4 = 0 4 83 mod 10 =3
5 94mod 7= 3 5. 60 mod 8 = 4
6: D9 mod 2 = 1 6: 91 mod 10 = 1
7. 100 mod 4 = 0 7. 98 mod 1 =0
8 7l mod 3 =2 8: 100 mod 4 = 0
9 91mod 1 =0 9: 92mod 7 = 1
10: 62mod 9= &8 10: 61 mod 4 = 1
11: 98 mod 8 = 2 11: 98 mod 5 = &
12 80 mod 1 = 0 12 96 mod 1 = 0
13: 69 mod 4 = 1 13: 90 mod 1 = 0
14: 78 mod 1 = 0 14: 69 mod 6 = &
15: 87 mod 3 = 0 15: 57 mod 7 = 1
16: 76 mod 4 = 0 16: 69 mod 2 = 1
17: 64 mod 10 = 4 17: 80 mod 4 = 0
18: 54 mod 3 = 0 18: 50 mod 7 = 1
19: 55 mod 1 = 0 19: 81 mod 6 = &
20: 84 mod 3 = 0 20: 100 mod 6 = 4
21: 88 mod 7 = J 21: 79 mod 8 = 7
22: 93 mod 9 = & 22: 91 mod 9 = 1
23: 79 mod 10 = 9 23: 56 mod 6 = 2
24: 75 mod 3 = 0 24: 50 mod 6 = 2
25: 91 mod 5 = 1 25: 76 mod 8 = 4
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Question 9  [25 marks] Question 10 |25 marks]
0: 78 mod 3 =10 0: 99 mod 5 =0
1: 76 mod 1 =0 1: 57 mod 3 = 0
2. b4 mod 9 = 0 2. 67mod 1 =0
3: 65 mod 2 = 1 3: 78 mod 8 = 6
4: 52mod 7= 3 4 dD7mod 10 = 7
5 b8 mod 10 = & 5 61 mod 9 =7
6: 60 mod 2 = 0 6: 68 mod 5 = 3
7. 81 mod 9 = 0 7. 60 mod 9 = 6
8 93 mod 10 = & 8 84 mod 9= 3
9. 7T5mod 4 =3 9: 90 mod 1 = 0
10: 91 mod 7= 0 10: 99 mod 8 = &
11: 78 mod 8 = 6 11: 67mod 1= 10
12: 54 mod 2 = 0 122 97 mod 1 = 0
13: 77 mod 3 = 2 13: 68 mod 2 = 0
14: 75 mod 5= 0 14: 85 mod 3 = 1
15: 81 mod 5 = 1 15: b3 mod 9 = §
16: 5b mod 7 = 6 16: 94 mod 8 = 6
17: 74 mod 1 = 0 17: 84 mod 1 = 0
18 94 mod 2 =0 18: 88 mod 6 = 4
19: 98 mod 1 = 0 19: 86 mod 8 = 6
20: Hb mod 3 = I 20: 79 mod 4 = 3
21: 92 mod 2 = 0 21: 70 mod 2 = 0
22: 98 mod 9 = § 22: 67 mod 9 = /
23: 56 mod 4 = 0 23: 51 mod 6 = &
24: 92 mod 5 = 2 24: 56 mod 9 = 2
25: b3 mod 4 = 1 25: 97 mod 3 = 1
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Question 11 |25 marks] Question 12 [25 marks]
0: 180 mod 11 =4 0: 186 mod 18 = 6
1: 177mod 12 =9 1: 122 mod 16 = 10
2: 169 mod 19 = 17 2: 181 mod 12 = 1
3: 111 mod 20 = 11 3: 121 mod 17 = 2
4: 170 mod 10 = 0 4 189 mod 15 =9
5. 179 mod 14 = 11 5. 125 mod 11 = 4
6: 121 mod 18 = 13 6: 131 mod 14 =5
7. 187 mod 12 = 7 7. 108 mod 17 = 6
8 146 mod 14 = 6 8: 106 mod 19 = 11
9: 172 mod 10 = 2 9: 114 mod 19 = 0
10: 183 mod 12 = 3 10: 150 mod 14 = 10
11: 188 mod 20 = § 11: 108 mod 12 = 0
12: 189 mod 10 = 9 12: 149 mod 17 = 13
13: 117 mod 14 = 5 13: 112 mod 16 = 0
14: 171 mod 13 = 2 14: 178 mod 10 = &
15: 194 mod 19 = 4 15: 158 mod 17 = 5
16: 194 mod 10 = / 16: 188 mod 18 = &
17: 142 mod 16 = 14 17: 192 mod 17 =5
18: 143 mod 16 = 15 18: 160 mod 18 = 3
19: 189 mod 20 = 9 19: 152 mod 14 = 12
20: 132 mod 18 = 6 20: 140 mod 19 = 7
21: 193 mod 20 = 13 21: 125 mod 17 = 6
22: 172 mod 14 = 4 22: 161 mod 19 = 9
23: 163 mod 17 = 10 23: 189 mod 17 = 2
24: 100 mod 16 = 4 24: 197 mod 11 = 10
25: 184 mod 18 = / 25: 111 mod 17 = 9
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Question 13 |25 marks] Question 14 |25 marks]
0: 163 mod 12 =17 0: 152 mod 14 = 12
1: 199 mod 18 = 1 1: 143 mod 10 = 3
2: 130 mod 16 = 2 2. 110 mod 15 =5
3: 168 mod 19 = 16 3: 164 mod 19 = 12
4: 137 mod 11 = 5 4: 141 mod 19 = §
5. 154 mod 15 = 4 5. 174 mod 18 = 12
6: 157 mod 15 =7 6: 125 mod 13 = 8
7. 186 mod 20 = 6 7. 185 mod 19 = 14
8 190 mod 17 = 3 8: 160 mod 17 = 7
9: 141 mod 13 = 11 9: 152mod 11 = 9
10: 157 mod 10 = 7 10: 121 mod 12 = 1
11: 117 mod 12 =9 11: 144 mod 16 = 0
12: 104 mod 18 = 14 12: 100 mod 20 = 0
13: 165 mod 19 = 13 13: 185 mod 13 = 3
14: 141 mod 13 = 11 14: 116 mod 20 = 16
15: 110 mod 17 = § 15: 158 mod 18 = 14
16: 151 mod 16 = 7 16: 120 mod 12 = 0
17: 192 mod 17 = 5 17: 160 mod 10 = 0
18: 128 mod 14 = 2 18: 133 mod 17 = 14
19: 124 mod 16 = 12 19: 100 mod 16 = 4
20: 182 mod 13 = 0 20: 162 mod 15 = 12
21: 173 mod 17 =3 21: 186 mod 20 = 6
22: 16b mod 13 =9 22: 184 mod 18 = /
23: 141 mod 17 =5 23: 186 mod 18 = 6
24: 169 mod 17 = 16 24: 196 mod 19 = 6
25: 163 mod 18 = 1 25: 125 mod 15 = 5
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Question 15 |25 marks] Question 16 |25 marks]
0: 186 mod 18 = 6 0: 160 mod 10 =0
1: 189 mod 17 = 2 1: 183 mod 18 = 3
2: 103 mod 13 = 12 2: 192 mod 12 = 0
3: 162 mod 15 = 12 3: 136 mod 20 = 16
4: 146 mod 20 = 6 4 107mod 13 = 3
5. 115 mod 12 = 7 5. 103 mod 20 = 3
6: 153 mod 17 = 0 6: 111 mod 12 = 3
7. 129 mod 10 = 9 7. 148 mod 14 = 8§
8 101 mod 12 = 4§ 8 171 mod 14 = 3
9: 174 mod 17 = 4 9: 143 mod 14 = 3
10: 132 mod 15 = 12 10: 198 mod 18 = 0
11: 102 mod 11 = 3 11: 198 mod 13 = 3
12: 184 mod 13 = 2 12: 167 mod 11 = 2
13: 122 mod 11 = 1 13: 107 mod 13 = 3
14: 193 mod 13 = 11 14: 148 mod 12 = 4
15: 129 mod 14 = 3 15: 179 mod 16 = 3
16: 165 mod 17 = 12 16: 107 mod 20 = 7
17: 165 mod 16 = 5 17: 128 mod 13 = 11
18: 109 mod 15 = 4 18: 146 mod 11 = 3
19: 125 mod 17 = 6 19: 111 mod 18 = 3
20: 178 mod 11 = 2 20: 133 mod 16 = 5
21: 138 mod 15 = & 21: 102 mod 13 = 11
22: 187 mod 19 = 16 22: 167 mod 16 = 7
23: 100 mod 13 = 9 23: 184 mod 14 = 2
24: 195 mod 19 = & 24: 104 mod 18 = 14
25: 184 mod 14 = 2 25: 124 mod 20 = 4
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Question 17 |25 marks] Question 18 [25 marks]
0: 139 mod 11 =7 0: 169 mod 15 =4
1: 131 mod 18 = 5 1: 164 mod 15 = 1/
2: 138 mod 17 = 2 2: 150 mod 14 = 10
3: 111 mod 18 = 3 3: 179 mod 14 = 11
4 175 mod 17 = 5 4 105 mod 20 = 5
5 163 mod 12 = 7 5 164 mod 18 = 2
6: 132 mod 19 = 18 6: 193 mod 16 = 1
7. 199 mod 10 = 9 7. 139 mod 14 = 13
8: 116 mod 16 = 4 8: 182 mod 19 = 11
9: 121 mod 12 = 1 9: 137 mod 15 = 2
10: 131 mod 19 = 17 10: 200 mod 14 = 4
11: 147 mod 14 = 7 11: 150 mod 20 = 10
12: 199 mod 16 = 7 12: 116 mod 17 = 14
13: 185 mod 13 = 3 13: 121 mod 19 = 7
14: 166 mod 10 = 6 14: 146 mod 16 = 2
15: 172 mod 15 = 7 15: 192 mod 19 = 2
16: 145 mod 17 =9 16: 178 mod 19 = 7
17: 169 mod 16 = 9 17: 137 mod 15 = 2
18: 125 mod 19 = 11 18: 200 mod 18 = 2
19: 172 mod 16 = 12 19: 137 mod 15 = 2
20: 198 mod 13 = & 20: 143 mod 10 = &
21: 132 mod 14 = 6 21: 110 mod 14 = 12
22: 162 mod 11 = & 22: 151 mod 15 = 1
23: 133 mod 15 = 18 23: 136 mod 12 = /
24: 125 mod 13 = 8§ 24: 153 mod 17 = 0
25: 189 mod 13 = 7 25: 180 mod 15 = 0
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Question 19

0: 100 mod 19 =5
1: 154 mod 13 = 11
2: 132 mod 15 = 12
3: 120 mod 10 = 0
4: 174 mod 11 = 9
5 157 mod 13 = 1
6: 131 mod 10 = 1
7. 175 mod 14 = 7
8: 114 mod 16 = 2
9: 142 mod 15 =7
10: 150 mod 16 = 6
11: 144 mod 17 = 8§
12: 131 mod 19 = 17
13: 167 mod 18 = 5
14: 196 mod 14 = 0
15: 162 mod 20 = 2
16: 138 mod 14 = 12
17: 193 mod 12 = 1
18: 122 mod 13 =5
19: 191 mod 15 = 11
20: 169 mod 19 = 17
21: 190 mod 17 = &
22: 184 mod 12 = 4
23: 169 mod 19 = 17
24: 110 mod 11 = 0

25: 106 mod 15 = I
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Question 20

25 marks|
183 mod 13 =1
161 mod 18 = 17

188 mod 16 = 12

144 mod 17 = §
135 mod 19 = 2
169 mod 16 = 9

186 mod 11 = 10

142 mod 14 = 2
162 mod 12 = 6
126 mod 18 = 0
108 mod 11 = 9
147 mod 13 = /
184 mod 12 = 4
117 mod 18 = 9
126 mod 13 =9
118 mod 14 = 6

108 mod 14 = 10

187 mod 20 = 7
148 mod 18 = /
198 mod 14 = 2

129 mod 13 = 12
150 mod 11 = 7

102 mod 15 = 12

173 mod 10 = 3
134 mod 12 = 2
138 mod 17 = 2
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648 mod 95 = 78
541 mod 71 = 44
611 mod 83 = 30
623 mod 65 = 38
699 mod 70 = 69
644 mod 65 = 59
602 mod 60 = 2

542 mod 69 = 59
875 mod 55 = 50
845 mod 82 = 25
817 mod 56 = 33
915 mod 88 = 35
785 mod 57 = 44
502 mod 72 = 70
588 mod 65 = &

970 mod 65 = 60
873 mod 70 = 33
636 mod 76 = 28
708 mod 93 = 57
675 mod 87 = 66
802 mod 76 = 42
885 mod 93 = 48
951 mod 90 = 51
847 mod 63 = 28
636 mod 62 = 16
667 mod 77 = 51
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817 mod 84 = 61
542 mod 88 = 14
693 mod 90 = 63
550 mod 58 = 28
941 mod 89 = 51
592 mod 75 = 67
764 mod 91 = 36
974 mod 94 = 3/
710 mod 98 = 24
758 mod 93 = 14
600 mod 69 = 4§
911 mod 78 = 53
704 mod 53 = 15
544 mod 75 = 19
774 mod 61 = 42
774 mod 57 = 33
854 mod 91 = 35
806 mod 71 = 25
894 mod 55 = 14
637 mod 61 = 27
587 mod 62 = 29
506 mod 74 = 62
508 mod 88 = 68
795 mod 79 = 5

748 mod 94 = 90

613 mod 89 = 79
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Question 23 |25 marks] Question 24 |25 marks]

0: 610 mod 59 = 20 0: 891 mod 78 = 33

1: 716 mod 87 = 20 1: 508 mod 94 = 38

2: 661 mod 88 = 45 2: 857 mod 99 = 65

3: 596 mod 70 = 36 3: 867 mod 72 = 3

4: 680 mod 50 = 30 4: 745 mod 61 = 13

5. 906 mod 60 = 6 5. 742 mod 98 = 56

6: 554 mod 61 = § 6: Hb37 mod 53 = 7

7. 709 mod 82 = 53 7. 593 mod b4 = 53

8: 668 mod 76 = 50 8: 910 mod 50 = 10

9: 894 mod 51 = 27 9: 988 mod 76 = 0

10: 862 mod 82 = /2 10: 877 mod 51 = 10

11: 505 mod 97 = 20 11: 869 mod 54 = 5

12: 949 mod 55 = 14 12: 992 mod 76 = 4

13: 692 mod 50 = 42 13: 828 mod 92 = 0

14: 580 mod 67 = 44 14: 816 mod 66 = 24

15: 765 mod 78 = 63 15: 984 mod 80 = 24

16: 633 mod 78 = 9 16: 915 mod 69 = 18

17: 869 mod 83 = 39 17: 609 mod 96 = 33

18: 801 mod 89 = 0 18: 915 mod 58 = 45

19: 882 mod 75 = 57 19: 714 mod 68 = 34

20: H75 mod b7 = 5 20: 681 mod 90 = 51

21: 650 mod 51 = 38 21: 792 mod 66 = 0

22: 711 mod 53 = 22 22: 614 mod 86 = 12

23: 930 mod 100 = 30 23: 743 mod 73 = 13

24: 518 mod H3 = 41 24: 824 mod 99 = 32

25: 990 mod 53 = 36 25: 816 mod 55 = 46
mod_500t01000-50t0100 mod_500t01000_50t0100
016 7 September 2014 12



Mod-Pos-L1 Answers Set1
Question 25 |25 marks] Question 26 |25 marks]

0: 712 mod 75 = 37 0: 893 mod 79 = 24

1: 512 mod 98 = 22 1: 819 mod 58 = 7

2: 652 mod 62 = 32 2: 805 mod 86 = 31

3: 661 mod 75 = 61 3: 794 mod b5 = 24

4: 697 mod 85 = 17 4: 647 mod 88 = 31

5. 774 mod 80 = 54 5. 505 mod 94 = 35

6: 709 mod 91 = 72 6: 562 mod 66 = 34

7. 993 mod 64 = 33 7. 628 mod 92 = 76

8: 883 mod 83 = 53 8: 679 mod 50 = 29

9: 756 mod 52 = 28 9: 999 mod 85 = 64

10: 637 mod 68 = 25 10: 615 mod 99 = 21

11: 531 mod 66 = 3 11: 978 mod 99 = §7

12: 828 mod 53 = 33 12: 832 mod 98 = /8

13: 642 mod 63 = 12 13: 901 mod 96 = 37

14: 700 mod 90 = 70 14: 671 mod 83 = 7

15: 530 mod 97 = 45 15: 997 mod 57 = 28

16: 765 mod 63 = 9 16: 575 mod 78 = 29

17: 738 mod 100 = 3§ 17: 737 mod 71 = 27

18: 763 mod 98 = 77 18: 695 mod 96 = 23

19: 840 mod 87 = 57 19: 904 mod 71 = 52

20: 641 mod 93 = 83 20: 785 mod H4 = 29

21: 865 mod 73 = 62 21: 545 mod 60 = 5

22: 715 mod 97 = 36 22: 884 mod 81 = 74

23: 936 mod 54 = 18 23: 867 mod 73 = 64

24: 755 mod 82 = 17 24: 671 mod 60 = 11

25: 928 mod 82 = 26 25: 600 mod 73 = 16
mod_500t01000-50t0100 mod_500t01000_50t0100
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525 mod 99 = 30
648 mod 94 = 8/
929 mod 84 = 5

593 mod 74 = 1

797 mod 82 = 59
564 mod 96 = 8/
617 mod 64 = 41
980 mod 52 = 44
966 mod 78 = 30
561 mod 64 = 49
899 mod 71 = 47
843 mod 83 = 13
856 mod 72 = 64
850 mod 54 = 40
601 mod 97 = 19
522 mod 78 = 54
683 mod 52 = 7

806 mod 57 = &

942 mod 53 = 41
826 mod 92 = 90
969 mod 60 = 9

872 mod 62 = 4

961 mod 90 = 61
735 mod 69 = 45
577 mod 80 = 17

832 mod 97 = 56

mod_500to1000_-50to100

25 marks]

Question 28

0:

1:

10:

11:

12:

13:

14:

15:

16:

17:

18:

19:

20:

21:

22:

23:

24:

25:

630 mod 72 = 54
647 mod 89 = 2/
734 mod 90 = 14
953 mod 72 = 17
585 mod 79 = 32
740 mod 70 = 40
991 mod 67 = 53
825 mod 73 = 22
834 mod 73 = 31
946 mod 89 = 56
719 mod 80 = 79
571 mod 78 = 25
917 mod 93 = 80
598 mod 91 = 52
662 mod 83 = 81
642 mod 81 = 75
903 mod 80 = 23
580 mod 96 = 4

582 mod 81 = 15
778 mod 92 = 42
816 mod 54 = 6

797 mod 69 = 38
820 mod 70 = 50
823 mod 83 = 76
555 mod 50 = 5

867 mod 77 = 20
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Question 29 |25 marks] Question 30 [25 marks]

0: 544 mod 97 = 59 0: 876 mod 64 = 44

1: 721 mod 92 = 77 1: 779 mod 77 =9

2: 765 mod 80 = 45 2: 500 mod 74 = 56

3: 779 mod 67 = 42 3: 591 mod 98 = &

4: 892 mod 50 = 42 4: 954 mod 94 = 1

5: 935 mod 97 = 62 5. 831 mod 56 = 47

6: 687 mod 57 = 3 6: 510 mod 84 = 6

7. 993 mod 97 = 23 7. 622 mod 52 = 50

8: 584 mod 80 = 24 8: 612 mod 86 = 10

9: 626 mod 54 = 32 9: 639 mod 75 = 39

10: 972 mod 79 = 2/ 10: 869 mod 67 = 65

11: 552 mod 62 = 56 11: 560 mod 87 = 38

12: 615 mod 95 = 45 12: 931 mod 74 = 43

13: 559 mod 89 = 25 13: 879 mod 64 = 47

14: 852 mod 90 = 42 14: 883 mod 84 = 43

15: 915 mod 94 = 69 15: 762 mod 99 = 69

16: 854 mod 55 = 29 16: 939 mod 69 = 42

17: 609 mod 57 = 39 17: 652 mod 100 = 52

18: 598 mod 60 = 58 18: 809 mod 65 = 29

19: 963 mod 98 = 81 19: 906 mod 66 = 48

20: 848 mod 78 = 68 20: 727 mod 73 = 70

21: 687 mod 87 = 78 21: 757 mod 78 = 55

22: 735 mod 70 = 35 22: 932 mod 89 = 42

23: H48 mod 78 = 2 23: 551 mod 88 = 23

24: 527 mod b2 = 7 24: 574 mod 77 = 35

25: 691 mod 93 = 40 25: 753 mod 97 = 74
mod_500t01000-50t0100 mod_500t01000_50t0100
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Question 31 |25 marks] Question 32 |25 marks]

0: 726 mod 93 = 75 0: 802 mod 86 = 28

1: 614 mod 55 =9 1: 728 mod 66 = 2

2: 753 mod 69 = 63 2: 841 mod 58 = 29

3: 783 mod 96 = 15 3: 866 mod 65 = 21

4: 635 mod 82 = 61 4: 941 mod 78 = 5

5. 565 mod 69 = 13 5. 554 mod 61 = 5

6: b5H mod 87 = 33 6: 624 mod 81 = 57

7. 885 mod 55 = H 7. 742 mod 73 = 12

8: 683 mod 66 = 23 8: 591 mod 98 = 3

9: 671 mod 78 = 47 9: 551 mod 93 = 86

10: 519 mod 82 = 27 10: 683 mod 99 = 89

11: 823 mod 86 = 49 11: 869 mod 100 = 69

12: 605 mod 94 = 41 12: 943 mod 79 = 74

13: 773 mod 83 = 26 13: 672 mod 97 = 90

14: 840 mod 62 = 34 14: 642 mod 91 = 5

15: 572 mod 72 = 68 15: 563 mod 67 = 27

16: 813 mod 100 = 13 16: 579 mod 93 = 21

17: 762 mod 67 = 25 17: 904 mod 59 = 19

18: 706 mod 85 = 26 18: 800 mod 58 = 46

19: 580 mod 77 = 41 19: 589 mod 57 = 19

20: 559 mod 61 = 10 20: 843 mod 83 = 13

21: 994 mod 74 = 32 21: 864 mod 74 = 50

22: 878 mod 85 = 28 22: 935 mod 63 = 53

23: 643 mod 94 = 79 23: 838 mod 85 = 73

24: 901 mod 80 = 21 24: 610 mod 97 = 28

25: 567 mod 59 = 36 25: 611 mod 65 = 26
mod_500t01000-50t0100 mod_500t01000_50t0100
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